SHE SRR

— BIUEFR
1 2 3 4 5 6 7 8
B A A D C B C D
= BBUEFEA
9 10 11 12 13
AC BC AD BD BCD
=, KRB

4. (H)@® ©@ F A% (@ OC @B
15.(1)4.620 10.14 (Q)UWfEHr  (3)4.6 (4.5~4.6 #1T) =
CRIR RG2S 2 4y, RN T —4r, WEXT T 148D

. 5

16. (1) HEMEA I, WK 1=20m (177, FRIE A=2cm (14

(2) Hv=af (149 ?%':f=§=%Hz=12.5Hz (249

(3) FHWHIMERETT M N+ I, ATAEREIE A, =54+ nd, (n=1, 2, 3.....) (17
iy =2 (149)

B v=50 (4n+1) m/s (n=1, 2, 3.....) (1%)

AR T ) oN-x J7 A, A AMEREIEE A, = 15+n1 (n=1, 2, 3......) (14}
FH A5 =50 (4n+3) m/s (n=1, 2, 3......) (140

(Ui A HAR IR R MG

1
17. (1) RFrEfR g, 7 qu =Emv2 (249

m

(2) WLTAER RS R I F4r, a3 qE=qvB, (17

E m
firrs B=—=E/— 249
X v 2qU 7]

WA 2 T Wm0, s B By 177 A S LRI A 4he (1 53



2

(3) KL AERiH R R FE3), A quB, —m— (14
r

HJLAC R, W51 GH L=2r (149
2 2mU
L= B_z T (2 /JJ\)

FC W] ARG g s R R R, PR B, U7, SRR GHAEIE K. (1)
18. (1) LS A LAV, 4185, B MATEREN 0, 5 Q Bl AT FERZ vy, Xt

AL BIORG, WEDRFETE My -M+my, O 24
R A B AT 7 M= (M v Mgl @ (1%)
PorOof vo=9m/s (1 7})

(2) A B 5H41R Q bR LSS SEIF 1 P ARIZRG) LR A FOBAE

Erg 25 Mv's =-MGvg)? (141

WAREL, = 36]

HNE, =36]> Mgl =0.5x2x10x 2.7J = 27J
0 A S P RS 55 RERE (1)
A SR PSRRI aML = MVEIME (25
filE1S v, =3m/s (1)

(3) W B 15 P UG E A 5 P ARE YRR — MR P, £, )

e Eog :%Mvé _81]

BEREE N AE; =2uMgL =54] :%Eko (14
ey ap 1 12 2 I\
B 5 P A4 A2 P g A AEFZEmVD =183=§Eko 14
i 5 ap N AEf 3
AR SRR LY o= (D)
F

LURREZshd R, s, ARG A R LA, ZREHEE S A Y

HEENE. MEHIA. B RGN b B A AR EN

AE :3 1MV =60.75]
4 2

i

27
CUi . A RNEMEE S, RILAgNESS 17y, BERTEWES 170, 4R 2 )

2



